[

S 6 FEBEEIER
— RSN ITE
FEEEryIT7v7

B REE
cavEZ - AFUN—FRER
Y- RmLEEE

4771FH

- EEISERMeEE

21,685+M

- [BFE/INER A AR R

110,041FH

- EENEIOY s FEE

7,690F

- HIEES X VY —EITEE

45,109+ M

0 REE
- HIEEE T — LR

1,500FM

- EmEETEREXIREEE

16,542F+H

S ZCLRERLR—BEEEYE

10,855FH

- BERRIBEN R EE

68,357 F M

- REBRTAFTIGIE e

13,165FM

B &FEE
- R ARIESZE

25,507 F M

B EWMKEEE
CHEWFOCYBATIEEE

14,388FHM

- R ERIEEE

2,088F

- BB EXIREE

24,835+ M

HEIE
- MBI EEREERTF 7 —R >
TEFEZE

21,930F M

- EEFEEE

2,133FHM

C BOERE 5 5289 KRS E =

13,800F+HM

W 1t KE
- IREE(EEE (FEh)

416,176 FHM

- lTEEES THthtEEE

71,075FHM

- BEREXNHREE

18,701FH

HHEE
- HEASOMEE R oSS =

157,579FH

JEERHATEHEHBLND 20244

o 6 FE—MRRE

= B RBIFEAR

BoE - FEELYE
1186,34154FFA (1.3%)

NEE
15{%8,09152FH
(12.6%)
HER
15{83,9095 2FH
(12.3%)

%

]
1254&
6,8005 M8

HbE
6187,59

10123,93355FH
(8.3%)

[ =

5{82,38556FM (4.2%) BMKEXE

6126,93958FM (5.3%)

B HERFEEAR
HEXS LIFHE 10754
A % = 2218487 HTFH 17.5%
) % =1 17126,816 59F M 14.1%
e 5 2] & = 882,337 8T H 6.5%
% Bh & 98673/55F M 7.2%
i Bh & % 27185,088 54F M 21.9%
m|— 8 = B B & 1218356 58F M (9.6%)
B » ftb 15184,73156F M (12.3%)
T OB B % F X B 16183,536 5 1F M 13.0%
w OB = x =B 9(52,106 54F M (7.3%)
g; HE B = X = 613,121 57FH (5.0%)
B E HEEaESE 8,3085 M (0.7%)
I 1& & 15188,09152F M 12.6%
i hva & 182,441 59F M 1.0%
g 1+ & 2,00075 0.2%
1 H & 61£6,42758FM 5.3%
F O ® E & a 8,898 57T M 0.7%
A 3 1251%6,80075 F 100.0%
= | | I
® ©

Z oty IREFHIE (5.1%)

- AHEBRRE  3184,5005 M
283,935
6,2605M  mEys

- WAESH
- ZDftn3E (e

BxXHE
6183,498A7FM (5.1%)

\

EEXHE
101%4,158756FH
(8.3%)

% A

]
1254&
6,8005 8

REMR
(79.0%)

(&)

BiE 0241-62-6100

RFHES

o 6 FE—MRRE

BRAFHEAER

15485,795/A7FF (12.4%)

L

706 FERHILNTIHE—E [

FEEFEH

#e

BAE

5{88,436758FH
(4.7%)

R

218 (1.6%)

F>
N o 2 p

REEMAE = F

(1.3%)
B6 L URES
2,4155H
- BRI & CFRR
7,381 R7FH
HERA. BHE

7,143A5H

va re a5

51 i é-j:m

H = i L 6

X sLE» 5

- < Iz 7= T

£hEgty

T3k

NS

g b5 Z

N ]

N W E

e P T

O | — N m‘

MEEFESR

N
.

HISERELE

WY o2 M5 mes

- fix = Bl 125156,8005 M 128181,2005 M A 2{54,4005 M A 19%
RERERF N =& 15125,6005 1 16122,9005 A 73005 M A 45%
BHEHEERSN S 2125,9005 [ 2124,8005 M 1,1005H 4.4%
TERRE N =G 22{57,8007 F 221%3,7007 M 4,10075 M 1.8%
K B F OE = &t 9{22,66452FH 10128,496 58FH A 1{3583276FH A 146%
T Kk B F ¥ & & 81%4,795579FH 10181,13251FH A 156,336 52FH A 162%

| &t 1841%3,56051FH 190182,228 59FH A 5(58,668H38FH A31%

|

2024.4 [LERIrT5FrEHLND

8

G



